According to classical electricity and
magnctism, what will happen 1f we
Hluminate a mctal wirc with light from a
laser pointer?

A) Nothing

B) A uniform current will flow in the wire

C) Some electrons in the wire will oscillate up and down
D) Some electrons will fly out of the wire
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The picture on the right above represents the
photons making up a beam of red light. Which of
the pictures below represents the photons making
up a beam of red light with double the intensity?
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The picture on the right above represents the
photons making up a beam of red light. Which of
the pictures below represents the photons making
up a beam of red light with double the intensity?

MQ O O
Suma Seeq :b St ?Aé%/[}@,\

 douile lf\%m y =b double photens /se c

0 00050
D) Q“‘** | Q->

Size represerls
Enes (3 Y ~—?



|
0
0
L
0
0

The picture on the right above represents the
photons making up a beam of red light. Which of
the pictures below represents the photons making
up a beam of blue light with the same intensity?
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The picture on the right above represents the
photons making up a beam of red light. Which of
the pictures below represents the photons making
up a beam of blue light with the same intensity?
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